Review your strategy from the following attached document and enter your decisions into the simulation. (Click here).  Run it through all the way through, (ALL FOUR YEARS - NOT JUST ONE!) and do not deviate from your strategy.  Then in a 2-3 page paper (plus appendices):

1. Give your final score on the simulation.  How does that compare to market potential? (Hint:  View high scores)

2. Evaluate the effectiveness of your strategy.  Be sure to discuss the ratios you calculated and how you used them.

3. Outline your proposed changes in strategy for the next run and justify them.

Remember that the key here is ANALYSIS.  What assumptions did you make when you planned your strategy?  Did these assumptions prove to be right, or was there something else you didn't think about that influenced your results?  How will taking those factors into account affect your strategy in this upcoming run?

You need to crunch some numbers to determine how successful you were, where the greatest sources of profit are, and what changes make sense. The ratios identified in paper below are a good place to start, but you may have identified additional ratios that will give you better information.   Make sure you proposed changes in strategy are firmly based in this analysis of financial and market data and sound business principles. Present your analysis professionally making strategic use of tables, charts and graphs.

 This paper will describe the strategy that was used over the four years of the simulation, and defend why this strategy will work.  In doing this, the ratios provided the best information needed to make the best decisions.  As obviously pointed out, the ratios that measure manufacturing efficiency and profitability were used to compare the entire firm's performance over time.  Others were best used when applying the comparison to the three products' performance or profitability.  We’ll begin by looking at the following types of ratios determined to be relevant. 

Let’s look at the unit price of X5, X6 and X7 during 2005; the price is $250 for X5, $400 for X6 and $200 for X7. 
	
	
	Unit Cost and Average Revenue per Unit

	
	Sales
	Total Costs
	Revenue
	Unit Cost
	Average Revenue per Unit

	X5
	1448031
	279390950
	362007649
	192.9454
	249.9999

	X6
	908627
	269025527
	363450944
	296.0792
	400.0002

	X7
	244244
	57340498
	48848773
	234.7673
	199.9999


	
	
	Break Even Analysis
	
	
	

	
	Variable Cost
	Sales
	Per Unit Variable Costs
	Price
	Contribution Per Unit
	Fixed Costs
	Breakeven Production

	X5
	202724283
	1448031
	139.99996
	250
	110
	76666667
	696969.5

	X6
	227156840
	908627
	250.0001
	400
	149.9999
	41868687
	279124.8

	X7
	15875851
	244244
	64.999963
	200
	135
	41464646
	307145.4
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The unit price is given to us in the simulation. The unit price will determine the revenues and the profits each product earns. The unit price will also determine the sales volume for each product.  If the demand for a product is elastic, a small reduction in price will lead to higher volume of sales.  On the other hand, if the elasticity of demand is low, small reductions in price will not lead to substantial increase in sales. In fact, if the demand is inelastic and the firm reduces its prices, the revenues for that product will decrease. 

At this stage, information is given that X7 is in the growth phase and there are several customers remaining in the market. In this case, the strategy should be to allocate a relatively low R&D expenditure because the product does not require additional features to fuel its sales growth. In addition, X7 is likely to have an inelastic demand. The reason for this is that many potential customers are there in the market and there is likely to be a large unfulfilled demand. So, it will be prudent to increase the price of X7. Further, the volume of production required for X7 for reaching breakeven point is 307145 which are relatively low. This means that the possibility of X7 making a loss is relatively low. So, the strategy for X7 will be to increase its price without increasing its R&D expenditure. The price should be increased by $10 every year. 

X6 is having a contribution per unit of $150 which is the highest among the products and has a breakeven production of only 279,125 units. This makes X6 an excellent product for making profits. The simulation confirms that the performance of this product is better than that of competing handheld sets. This also means that the price elasticity of demand for X6 is low. In other words, if we increase its prices, the revenues and the profits will increase. The simulation does not mention the stage of the product life cycle in which this product is located. We can assume that this product is located in the maturity stage of the product lifecycle. So, the strategy for X6 will be to increase the price and R&D expenditure. The price should be increased by $10 every year for three years. In the fourth year the price should not be increased. During the fourth year however, it might be reasonable to decrease the R&D expenditure. 

X5 has a unit contribution of $110 per unit, but it is having a high break-even production of 696970. This level of break-even point means that a reduction in demand for X5 can lead to losses. In addition, the price of X5 is currently similar to that of competitors. This may indicate that the price elasticity for X5 may be high. Any increase or decrease in prices may lead to a disastrous situation. It would be prudent to maintain the price and R&D expenditure at the same level for two years; however, as the breakeven point is high in case of X5, any reduction in sales in the second year should lead to the withdrawal of product in the third year. Only if the sales increase in the second year should the product be continued in the third year. This strategy will work best for X5 because the breakeven point is very high so; the overall strategy for this simulation based on the unit cost, unit price, average per unit revenue, and break even analysis is that the prices of X7 and X6 should be increased. This decision is likely to earn better profits for these products. However, the price should be maintained at the same level namely $250 for X5. If, however, at any stage the volume of X5 is likely to fall below 696970 it should be discontinued. 

